
Service Parts Catalog Contents

PageSet 6

Chassis

100 Fuel

CHART, FUEL SENDERS

_____________________________________________________________________________ 1

_____________________________________________________________________________ 2

EMCO WHEATON

RAPID FILL

With: FEATURE 40241-15
_____________________________________________________________________________ 3

STANDARD FILL

With: FEATURE 40241-06
_____________________________________________________________________________ 4



Models: AAFE, AARE, A3FE, A3RE, BBCV, B4RE, C1FE, C3FE, C4RE, CSFE, CSRE, H4RE, L4RE, Q4RE,
QBRE, T2RE, TCFE, TCRE, TSFE, WLWB, W4RE
CHART, FUEL SENDERS

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002215

TANK ASSEMBLY, FUEL

1935501 TANK ASSY,FUEL,60 GAL,MM,RH FILL,A3RE

1601947 TANK ASSY,FUEL,100 GAL,MIDMOUNT,RIGHT 

1935493 TANK ASSY,FUEL,100 GAL,MM,RH FILL,A3RE

1997576 TANK ASSY,FUEL,100 GALLON,MIDMOUNT,RH 

1866375 TANK ASSY,FUEL,100 GAL,MM,RH FILL, CEC/RE

0021432 CAP,FUEL TANK FILLER,BORGWARNER

0011895 TANK ASSY,FUEL,60 GAL,MM,LEFT FILL, A3RE

0011897 TANK ASSY,FUEL,100 GAL,MM,LEFT FILL, A3RE

4311155 SENDING UNIT,100 GAL FUEL TANK A1380AE"

TANK ASSEMBLY, FUEL

1667682 TANK ASSY,FUEL,45 GALLON,SIDEMOUNT,

4328746 CAP,FUEL TANK,GASOLINE/DIESEL"

1531417 TANK ASSY,FUEL,60 GAL,SIDEMOUNT,RIGHT 

1667690 TANK ASSY,FUEL,60 GALLON,SIDEMOUNT,R/F 

4328746 CAP,FUEL TANK,GASOLINE/DIESEL"

1784933 TANK ASSY,FUEL,60 GAL,M/M,RH FILL,

4323622 GASKET,SENDER,60 GAL FUEL TANK"

1667716 TANK ASSY,FUEL,60 GALLON,MIDMOUNT,RIGHT

0049389 TANK ASSY,FUEL,60 GALLON,MM,RH FILLBBCV,

4323622 GASKET,SENDER,60 GAL FUEL TANK"

4312609 FLANGE,PLUG,FUSE #873,FUEL TANK

0044488 PLUG,FUSE #873,FUEL TANK,1667716

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, BBCV, B4RE, C1FE, C3FE, C4RE, CSFE, CSRE, H4RE, L4RE, Q4RE,
QBRE, T2RE, TCFE, TCRE, TSFE, WLWB, W4RE
CHART, FUEL SENDERS

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002215

1667732 TANK ASSY,FUEL,90 GALLON,MIDMOUNT,RIGHT

1997642 TANK ASSY,FUEL,90 GALLON,MIDMOUNT,RH 

0067240 TANK ASSY,FUEL,100 GAL,MM,RH FILL

1997501 TANK ASSY,FUEL,100 GALLON,MIDMOUNT,RH 

0049387 TANK ASSY,FUEL,100 GALLON,MM,RH 

4323622 GASKET,SENDER,60 GAL FUEL TANK"

4312609 FLANGE,PLUG,FUSE #873,FUEL TANK

0044488 PLUG,FUSE #873,FUEL TANK,1667716

1667708 TANK ASSY,FUEL,60 GALLON,SIDEMOUNT,LEFT

1667724 TANK ASSY,FUEL,60 GALLON,MIDMOUNT,LEFT 

0049390 TANK ASSY,FUEL,60 GALLON,MM,LH FILL, A3FE

0011896 TANK ASSY,FUEL,100 GAL,MM,LEFT FILL, FE

0049388 TANK ASSY,FUEL,100 GALLON,MM,LH FILL, 

4315248 SENDING UNIT,45,60, OR 90 GAL FUEL TANK"

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, BBCV, B4RE, C1FE, C3FE, C4RE, CSFE, CSRE, H4RE, L4RE, Q4RE,
QBRE, T2RE, TCFE, TCRE, TSFE, WLWB, W4RE
CHART, FUEL SENDERS

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002216

TANK ASSEMBLY, FUEL

1574805 TANK ASSY,FUEL 60 GALLON GAS, 49 STATE,

1637859 TANK ASSY,FUEL 40 GAL GAS,49 STATE,ALUM

4327052 SENDER W/PUMP,40 GAL,GAS,427

1574987 FITTING,SWAGELOK TO AN UNION 3/8,TUBE,TC

1574979 FITTING,SWAGELOK TO AN UNION,5/16 TUBE,

1943232 TANK ASSY,FUEL,176 GAL,TRNSV MT,DUAL FILL

8312639 SENDING UNIT,176 GAL. TANK LTC"

1533348 TANK ASSY,FUEL,60 GAL,SIDEMOUNT,LEFT FILL

2008001 SENDING UNIT,60 GAL FUEL TANK (90 OHM) 90 OHM

0036591 TANK ASSY,FUEL,105 GALLON,TRNV,RH FILL

0056335 TANK ASSY,FUEL,105 GAL,TRANSVERSE RT 

0056967 2 SENDING UNIT, 45 GAL. TANK (9021058)

0056836 TANK ASSY,FUEL,100 GALLON W/SENDER,

0086581 SENDER,FUEL TANK,100 GALLON,COMMERCIAL

9021058 TO,TANK ASSY,FUEL,45GAL,SIDEMT,EMCO 

0056967 SENDING UNIT, 45 GAL. TANK (9021058)

0070805 TANK ASSY,FUEL,100 GAL,MIDMOUNT,LH FILL

0094754 SENDER,FUEL TANK,105 GAL,TRANSVERSE,RH 

0068149 TANK ASSY,FUEL,100GAL,MM,LS FILL

0068150 TANK ASSY,FUEL,60GAL,MM,LS FILL

0068151 TANK ASSY,FUEL,100GAL,MM,RIGHT FILL

0068152 TANK ASSY,FUEL,60GAL,MM,RIGHT FILL

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, BBCV, B4RE, C1FE, C3FE, C4RE, CSFE, CSRE, H4RE, L4RE, Q4RE,
QBRE, T2RE, TCFE, TCRE, TSFE, WLWB, W4RE
CHART, FUEL SENDERS

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002216

0087876 TANK ASSY,FUEL,96,MM,RIGHT FILL,10%, HDRE

0093338 SENDER,FUEL TANK,FOR 21.5 IN DEEP TANK

0068146 TANK ASSY,FUEL,60GAL,SIDEMNT,RF

0068147 TANK ASSY,FUEL,100GAL,MM,LEFT FILL

0068148 TANK ASSY,FUEL,60GAL,MM,LEFT FILL

0067239 TANK ASSY,FUEL,60 GAL,MM,RH FILL

0081017 SENDER,FUEL TANK,FOR 14 IN DEEP TANK"

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
EMCO WHEATON
RAPID FILL

With: FEATURE 40241-15

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002224

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
EMCO WHEATON
RAPID FILL

With: FEATURE 40241-15

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002224

1 4752220 SENDER UNIT FUEL TANK

2 0543934 4 NUT,HEX HD,3/8-16,ZINC,LG FLG LK,YEL 

3 0803197 2 CAPSCREW, HEX HD, GR8 3/8 -16 X 3 1/2, YEL

4 1078922 4 WASHER,FLAT,3/8 X 7/8 X 5/64,YEL ZN DICH

5 2007649 AR PAD,FUEL TANK STRAP

6 4755839 2 STRAP FUEL TANK SUPPORT

7 0044670 2 FITTING,MALE CONN,PARKER 6M12SHF50S,

8 0002811 2 NUT,HEX HD,5/16-18.FLG,LK,NYL INS,YEL ZN 

9 1109271 AR LOOM,CORRUGATED,BLACK,NYLON,3/4 ID,SS

10 1797810 AR HOSE,.37 ID X .62 OD,W-H H00906

11 1944099 2 SWIVEL,FEMALE,45FL,3/8H X 3/8T,1000GB-406

12 4760382 2 FITTING MALE 3/8H X 3/8-18NPT WH10006B

13 0021432 CAP,FUEL TANK FILLER,BORGWARNER

14 0971747 4 CAPSCREW,HX HD,M6-1 X 16,CL 10.9,

15 4755838 TANK FUEL 60 US GALLONS

16 4760590 TANK,FUEL,WHISTLE,EMCO WHEATON

17 4755902 PIPE -, FILLER NECK

18 4758738 GASKET

19 4755847 9 VALVE LEVEL CONTROL ( HIGH TOP ) HIGH TOP

20 0030160 FILTER,FUEL/WATER SEP,RACOR 490R-BB-01 

1967009 ELEMENT,FUEL/WATER SEPARATOR,R90P,30M 

21 0803213 2 CAPSCREW,HEX HD,3/8-16X1 1/4,GR8,YEL 

22 2171809 2 NUT,HEX HD,3/8-16,ZINC,SM FLG LK,YEL 

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
EMCO WHEATON
RAPID FILL

With: FEATURE 40241-15

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002224

23 0989145 2 CAPSCREW,HEX HD,5/16-18, X, 1, ,GR5,

24 0557710 2 CLAMP,LOOP,.812

25 0020687 2 CLAMP,LOOP,1.75

26 4755848 VALVE PRESSURE RELIEF

27 4755846 ADAPTER FILLER POSSISNAP

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
STANDARD FILL

With: FEATURE 40241-06

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002223

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
STANDARD FILL

With: FEATURE 40241-06

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002223

1 4752220 SENDER UNIT FUEL TANK

2 0543934 4 NUT,HEX HD,3/8-16,ZINC,LG FLG LK,YEL 

3 0803197 2 CAPSCREW, HEX HD, GR8 3/8 -16 X 3 1/2, YEL

4 1078922 4 WASHER,FLAT,3/8 X 7/8 X 5/64,YEL ZN DICH

5 2007649 AR PAD,FUEL TANK STRAP

6 4755839 2 STRAP FUEL TANK SUPPORT

7 0044670 2 FITTING,MALE CONN,PARKER 6M12SHF50S,

8 0002811 2 NUT,HEX HD,5/16-18.FLG,LK,NYL INS,YEL ZN 

9 1109271 AR LOOM,CORRUGATED,BLACK,NYLON,3/4 ID,SS

10 1797810 AR HOSE,.37 ID X .62 OD,W-H H00906

11 1944099 2 SWIVEL,FEMALE,45FL,3/8H X 3/8T,1000GB-406

12 4760382 2 FITTING MALE 3/8H X 3/8-18NPT WH10006B

13 0021432 CAP,FUEL TANK FILLER,BORGWARNER

14 0971747 4 CAPSCREW,HX HD,M6-1 X 16,CL 10.9,

15 4755838 TANK FUEL 60 US GALLONS

16 4760656 KIT,STANDARD,EMCO WHEATON

17 4755902 PIPE -, FILLER NECK

18 4758738 GASKET

19 4755847 9 VALVE LEVEL CONTROL ( HIGH TOP ) HIGH TOP

20 0030160 FILTER,FUEL/WATER SEP,RACOR 490R-BB-01 

1967009 ELEMENT,FUEL/WATER SEPARATOR,R90P,30M 

21 0803213 2 CAPSCREW,HEX HD,3/8-16X1 1/4,GR8,YEL 

22 2171809 2 NUT,HEX HD,3/8-16,ZINC,SM FLG LK,YEL 

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: L4RE
STANDARD FILL

With: FEATURE 40241-06

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002223

23 0989145 2 CAPSCREW,HEX HD,5/16-18, X, 1, ,GR5,

24 0557710 2 CLAMP,LOOP,.812

25 0020687 2 CLAMP,LOOP,1.75

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number




